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logx—logy=1,-3x + 10y + 20 = 0,
find the value of y.
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If1+6+7+23+24+30+38+47+54+55
=2+3+10+19+27+33+34+ 50+ 51 + 56,
then I"+ 6"+ 7"+ 23" + 24" + 30" + 38" + 47"
+54°+55"°=2"+3"+ 10"+ 19"+ 27" + 33" + 34
+50" + 51" + 56",

Find xif x # O or L.
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ABCD is a rectangle and CDE is a
straight line. If the area of ABCD is 24
and F'is a point lies on BC, find the area
of triangle DFE given BF : FC=3: 1.
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Last digit of 1> + 2° +...+2009°.
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A, B, C and D are positive integers.

AB =172, BC =54 and BD = 90. Find
the number of all possible combinations
of A, B, C and D.
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In the figure, C is the centre of the circle
x>+ y*—8x— 7y +12 = 0. If the circle
cuts the x-axis at 4 and B, find the area
of ACAB.
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A solid right circular cone of height 12 cm
is put into a cylinder which has the same
internal radius as the base radius of the
cone. Water is added into the cylinder until
the water level reaches the tip of the cone.
If the cone is removed, what is the height
of the water in the cylinder.
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Given a 3-digit number
POR=P'+Q*+R’and P< Q<R.
Find P+ Q + R.
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In the figure, ABEF, BCGH and CDI1J
are three squares.

If AB=3.6and BC=6and F, H, J lic
on a straight line, then CD =?
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Given ,C; = 15n. Find n.
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Given ,C; = 22n. Find n.

How many roots has the equation
sin f + sin’f = cos’d where 0° < § < 1620° ?
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Find R for R’ = 759375 without using a
calculator.
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In the figure, ABCD and

AGFE are straight lines.
If BC=2cm, CD=3cm,

BG=6cmand CF=10cm, 1 6
DE =7
—+
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142+ .+ @G- +n+@-1)+ ...
+2+1=17% find n.
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How many rectangles?
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Findnif —md = 2
1+ 2cos°A4 n
inA
whenL =-1
1+ 2cosA

where cosA4 # 0.
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The radius of the circle is 8 cm, a new
circle is formed by increasing the radius
by 10%, find the percentage increase in
the area of the circle.
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Find nif VW3 +i)2 (V3 — i > =2"
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The product of 3 prime numbers is 759.
Find the largest one.
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(log,49) x (log;16) x (log,27) =?
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The remainder of (7°°* + 5**) = 100.
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In a 2-digit number, if the sum of 2
digits is 12, where the tenth-digit is 3
times of the unit-digit. Find the product
of tenth-digit and unit-digit.

Eight students in the classroom “greet”
each other. How many “greet” in total?
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The remainder of (2x + 2)(x + 3)(x° + 2)
— 19 when it is divided by x — 1.
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Mr Wong bought a flat at $2,400,000
in 2006, and then sold it to Mr Lee at
$3,120,000. Find the profit percentage.
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The sum of 2 different angles is 30°.
One of the angles is X°. The other angle
is X minutes. If X is a mixed fraction

in minutes, find the numerator of the
fraction part.
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